(B=1)

(A AN —BHREBEOH IERBA=1— ZR4 RS hER miT4 | FRSAHET
HIHEY A X, &3, X, HWOL, FLLWV:=ITF
Bk 4 BER A AR | EE
Z1FA * 100|=E 8
= 5
43, 43, 206 | K HCHET
SEn/IHz—R XYY & 60 | R EAET
L&OM 0.96
ZLKBLESW 36
=<V 8.4
i 7.2
rETFyT 7.2
DRAA—)—R 48
LB 0.6
E—JAUHEDO |FrY 60
B I DR A2 FEBENOBRRAF) [ZALCA 12
RG] 2R R D B ATSHT C9 , HBIL CIRN =& [X & & D T=fk L 36| PR T
ATY . 7FrVTRICT HCETRADN DY, FEL-BDT: %5 36
CRABRTINTVET , F-. MIREDEOLETFLLLVITE —
FEWOIZL, KPERDEB-HIZHE—ToEANEL -, E—~~ 12
FLLUL=IT 0.6[#ABR
E—o> 7.2
KA 6
i 1.2
L&OM 0.6
i 1.2
L&D 0.02
Bif 0.36
ZLKBLEOW 2.4
AARRZ—Y—2R 2.4




